YL-miniB11

I7RNN =05 TR H

IN—IJ X

@ _DPDT SR HIBIE LIEEDZERB L TNET, K2, sEHABIE
FERLKEEIDENBDFET,

OB HGORBICIE, T MEHHIIESIG ) 2 EAIESV,
BB EEASNT I CRBVBIEREDRRESDET,

O KNAMIBICEERISEN TRV I A,

FEFE1—F 02241

R6.11.2228%E

N| R6.7.16K%E

R6.7.16 8 E

AN
/N\| H27.6.258
/N | H26.8.2688

H19.8.17{ERK




YL-miniB1li FIG.1-1 /N)IL—25 )IL—TF (AE)
i}

5




YL—miniB1i ZERFI—IA - EEZ
FIG. 1-1  ~ =0 w=7" (F78)  ~ =v)ab [02011] A\ S A0 & A4 % 4

FIG| =Y a—F & & & s | REUEHLAE | 10 kE e | | oA P GO
1 |12 388 403 11|» =i —(E/H) -3 1 {31,200 /9| 31,200 [ |/2\ A | B E%LUE'%WD&E%
2 |12 A08 008 O1|# =} 1 |43,200 7| 43,200 [9 A

3 |10 10E 19F gl |FE&FA R/ MY | 4 30 M 120 H M4X8 PW. SWf A

4 112 674 012 01 iA*,u?@%<aﬁ—;u\aEﬂA7‘m‘/{ﬁ§) 1 390 [ 390 M A B | L
5 |12 388 411 01|5v7 #z M7y) 2 820 M 1,640 [ A

6 |12 B58 004 01|77 #wh —n" vy 1 810 1 810 M | ¢ A

7 |12 B58 001 01|77 #ix 1| 1,670 1 1,670 1 |/2\ A

8 |12 224 012 01|77 1 23,900 7| 23,900 [9 MF400LSH/U A B |ames o
9 |12 388 111 O1|BpfH Sy ¥ 1| 2,760 M 2,760 M A

10 |10 107 19N O1 |0 f3n v /gy | 2 30 1 60 [ [/A\|M4X20 SUS  *¥" ny ) [ A

11 |12 384 101 01|77 Vhyh 1| 6,000 [ 6,000 [ |/\|E39 A

12 |12 388 114 O1|Vhybn vy 1| 2,880 1 2,880 [ A

13 |12 B58 005 O1|J/y bEufFA" =2 1| 5,180 M 5,180 M [/2\ A

14 |10 10E 19F gl |[JE&HIASHFTRA/ Y | 4 30 1 120 1 M4X8 PW. SWf A

15 |12 384 105 01|)—} ## 1 390 390 2sq(F) VavERt-dmfF | A

16 [12 384 106 01[V-} #¢ 1 390 M 390 [ 2sq () VB - ST | A

17 |12 794 005 11|7 ny77v 1 27,500 | 27,500 [9 109BG24HCT ¢ 5AGEMT. ILIPEESR [ A

18 |10 10E 19T El|E&MAHF XA/ | 3 50 150 M M4X45 PW, SWif A

19 |10 10E 12H EI|FE&RAHFRA Iy | 1 30 M 30 M M4X10 PW. SWf A

20 [12 388 416 01|73 1| 4,590 [ 4,590 1 A

21 |10 12C 045 31|tV=MF770v" Fyb 1 40 M 40 M M4 A

22 (12 A08 002 01|77 At 1| 8,400 1 8, 400 [ A

23 [12 388 413 01|/ iy} 1 120 1 120 1 A

24 [12 A08 003 01 |Afkpn - 2 | 3,500 [ 7,000 Y A

25 (10 10E 19F gl [FEAFAI TR/ Y| 12 30 M 360 M M4X8 PW. SWf A

26 [12 A08 001 O1 [ASRHERAfFA =2 1 |19,800 7| 19,800 [ A

27 (10 104 19F gl |+ 7 Mgy 4 20 80 M M4X8 A

28 |12 B43 001 01|Shv 1 120 M 120 M ISH40 A

29 (10 117 019 gl|/7 & wh 1 240 1 240 1 M8X20 (G-3) A

30 [10 104 19F gl |47 gy’ 4 20 1 80 M4X8 A

31 [12 388 415 01|7 ny77/EIAT— 1| 8,900 M 8,900 A

32 [10 10W 001 gl |FEAHAIF A | 2 40 80 [ M3X8 SW-PW (/M%) fiF A

33 [12 794 010 01|77/&EIR 1 | 11,000 | 11,000 F RS-25-24 A | B | EfarENE L
34 (12 794 011 O1)-} #¢ 1 210 [ 210 [ HIV1. 26sq (GR) Yéis 13 A

35 (12 794 012 O1[)-} #¢ 1 210 [ 210 M HIV1. 25sq () Y81+ A

36 [12 894 005 01|7-af¢ 1| 1,440 [ 1,440 19 VSF1. 25sq (k) MV | A

37 |12 384 103 01|)-} #¢ 1 210 [ 210 [ HIVL. 25sq (F5) Y311+ A

38 [12 794 014 O1[)-} %R 1 210 1 210 [ | ¢ |HIVL. 25sq (JR) Y+ f+F A

39 [10 10E 19F gl [HEAHLAIFF /Ay | 1 30 M 30 19 |[/A\|M4X8  PW, SWhF A

40 12 384 202 11|34/4-CP (IEH5-47) 1 {23,400 [9 | 23,400 [ [A\[NJW-205-AdM125-7" Wfst A

41 12 384 102 O1|p-7" W)707° 1| 1,050 [ 1,050 [ |A\|FGB21  [F)% 5w A

42 (12 798 005 01|my/Fyh 1 270 M 270 1 LN-CTG16M =Affi/mAi-h A

43 [10 130 031 31|27° V) Uyve— 2 20 40 1 M3 A

44 (10 120 033 31|AHTyh 2 20 1 40 M M3 A

45 (10 104 18D gl |7 My 2 20 M 40 1 M3X6 A

46 |10 106 10D d1|+F=o A by’ 1 20 [ 20 [ M3X6 A

47 (10 130 031 31|27° V) Uyve— 1 20 1 20 M M3 A

48 [10 120 033 31|AHTy) 1 20 1 20 1 M3 A

49 (12 388 417 01|&w7" 3" 1 90 M 90 M CP-30-HP-3 A

50 [12 A08 004 11[hn =77aF- 1| 3,590 [ 3,590 M AN -5l FE T A

51 |12 388 404 O1|hn =77t % 1| 1,880 [ 1,880 M A

52 [12 A08 006 01|N —vEi->F 2 | 2,740 M 5,480 [ A

53 [10 10E 19] gl [FEAHLAIFFRA/IMY | 4 30 M 120 1 M4X12 PW-SWft A

54 [12 674 016 01 |3~ wem (v w=itidnn 7at-hrid) | 1 520 M 520 M A

55 [12 744 018 01|vviyFaxsk 6 150 1 900 M WE-2 A

56 [12 998 001 01 [N w=Vitfnn - 1 [28,000 [ | 28,000 [ [LAlHEEE A




FIG1T =9 V=7 (LAY

AR

1IN

Ky /|
1 By <.
| ] O
N L ‘
dAID S

>f§ & —45

C|

o K-—_——’j

|




YL—miniBli EERT—IH - BEHH
FIG. 1 N V=0 =7 L)  » =Y)Ah /A S Rt &AM % 4
FIG | X—Ya—F [ & 4 ot BEVEHLAG | 15 YA | v | (AR T GO
1 |12 388 101 01| 1 | 15,600 3| 15,600 [ A
2 |12 388 102 01|#fiR 1| 5,200 [ 5,200 A
3 |12 388 103 01|74wp— 2 | 5,640 | 11,280 M A
4 |12 388 104 11[hn =774~ 1| 2,430 [ 2,430 M A
5 |12 388 105 01|3@XHK 1 | 11,300 H | 11,300 M A o
6 |12 388 106 01|44k 1 | 14,400 [ | 14,400 [ A
7 |12 388 107 01|77/Ht Y fifa" =2 1| 4,560 1 4,560 H A
8 |12 388 108 0O1|n v¥v 1 410 M 410 M FERIEPT  L=390mm A
9 |12 384 104 01|ynya7rve—j- 1 | 40,800 [ | 40,800 [ A
10 |12 388 110 01| =} 1 | 28,800 H | 28,800 H FIG20& ¢r A
11 |12 224 012 01|5v7° 1 | 16,000 H | 16,000 M MF400LSH/U A
12 |12 388 111 O1|Bhen y&v 1| 2,760 [ 2,760 M Al 1B |EHMESY
13 |12 384 101 01|37 Jhyh 1| 6,000 H 6, 000 H E39 FIG16& ¢ A
14 |12 388 112 01|77 HL Y fif~" =2 1| 4,560 1 4,560 H A
15-1 |12 384 201 11|244-CP (IELX + 42) 1 | 23,400 1| 23,400 [ AN 20 VA )) A
15-2 |12 384 202 11|244-CP (IEAX + £2) 1 [ 23,400 F9 | 23,400 [ |A\|5F - 57" MF (42 )@) A
16 ) -1 R 2 FIG13%y}h A
17 |12 388 201 o1{pn" - (H/A) 1 |31,200 9 | 31,200 M A
18 |12 384 102 01|4=7"M5v7° 1| 1,050 [ 1,050 M bimed# PF1/2 A
19 |12 388 113 01|77/ —#- 3| 2,640 [ 7,920 [ C3604B A
20 BV 1 FIG9IZty b A
21 |12 388 114 O1|JFybn v¥v 1| 2,80 M 2,880 H A
22 |10 10E 19] gl |[FE&FAIF+F /A | 4 30 120 H M4X12 A
23 AP 4 FIG22(Zty b A
24 AR VAZS 4 FIG22(Zty b A
25 |10 134 KQ5 91|7° v=byyve- 2 30 M 60 [ M8 A
26 |10 130 082 22[x7° Vv yyve- 2 30 M 60 H M8 A
27 |10 111 087 M1|/AFAK VI 2 90 180 M M8X20 A
28 AR VAZS 4 FIG30(Zty A
29 AP 4 FIG30(Zty b A
30 |10 10E 19] gl|E&HAIFTRA/IY | 4 30 120 H M4X12 A B lams v
31 |10 10E 12N 32|ME&iA TR/ | 3 60 [ 180 M M4X20 A
32 AP 3 FIG31iZty b A
33 AR VAZS 3 FIG31(Zty} A
34 7 U=y 4 FIG36(Zty b A
35 AP 4 FIG36(Zty b A
36 |10 10E 19] gl|E&HAIFTRA/IY | 4 30 120 H M4X12 A
37 |10 107 12N 32|+ 5 3n" AV /vy 2 150 M 300 M4X20 A
38 |10 130 041 02|27° V)™ Dyya— 2 30 M 60 H M4 SUS A
39 |10 120 045 02|/<FFyh 2 30 M 60 [ M4 SUS A
40 |10 10F 19] gl |[FE&FAIF+F /A | 4 30 120 H M4X12 A
41 A7) Dy 4 FIG40{Zty b A
42 AR VAZS 4 FIG40(Zty b A
43 |10 117 019 gl|/7 & W} 1 440 M 440 M M10X25 (G-3) A
44 |12 388 115 01707 g™ =27" )" 3| 2,880 [ 8,640 M A
45 |12 388 301 01|¥ 7" M~ 3 40 120 M A
46 |12 388 116 01|77 kwp - L | 11,100 B | 11,100 M A
46-1 |12 B58 004 01|77 k™ =n" y¥v 1 810 M 810 M A
47 |12 388 203 01|/ )-vin - 1 | 13,800 H | 13,800 M A




IL-L5 V-7

FIG.2-1

FIG. 2-200

FIG. 2-100

—G110




YL-miniB1i ZEHFi—IH - ZEZ
FIG.2-1 Jv=b" =7 » =9)Ah [02241] VAN ST IR & AT 5 55
FIG | X—Y=a—Fk EEEEAE S wms| PEVEEAL |16 o | soe £ e G D HH#
1 |12 152 001 01|7v-A4 1 | 54,000 [ | 54,000 [ B | IH [EfMHY
2-100 MY Tv=b () 1 —
2-200 MY Tv=b (B) 1 —
3 |10 111 087 M1 |/ANA& Vb 2 90 1 180 Y M8X20 A
4 (10 130 082 22(x7° Vv vyye- 2 30 M 60 M M8 A
5 |10 120 089 M1|/<#+yh 2 30 M 60 M M8 A
6 |10 111 085 M1 |/NA& Vb 2 110 1M 220 1 M8X16 A
7|10 130 082 22(x7° Vv Uyyy- 2 30 M 60 M M8 A
8 |10 120 089 M1|/AN#+yh 2 30 M 60 M M8 A
10 |12 382 111 01|~ v} CP 1 2,640 17| 2,640 [ A
11 |10 111 067 M1 :ﬁqm wh 1 60 1 60 1 M6X20 A T P
12 |10 120 068 21|AfH7Tyh 1 30 M 30 [ M6 A
13 Shv FIGIO & £y b A
14 |12 382 106 01|a"Ahn b 4 330 [ | 1,320 9 A
15 |10 134 eeA 82|7 V=Fyyy— 2 1,560 19 | 3,120 19 |A\[M20 #ths09v— A
16 |10 147 J30 21|&t" v 2 40 1M 80 ® 4X30 A
17 |10 120 089 M1|Af7Tyh 6 30 M 180 M M8 A
18 |10 130 082 22|27° V) Uyyi— 6 30 1 180 1 M8 A
19 |10 111 087 ML|AHK v} 6 90 1 540 [ M8X20 A
20-0-1 TUMBI = (F) Assy 1 | 41,990 41,990 M AFIG20—0'24—1'25—1~28'58~60 A . N
S | RS E B
20-0 TN 7=k (45) Assy | 1 | 30,220 [ | 30,220 [ |/2\|F1620-21~23-1 A
20 |12 382 103 O1|79Mip -7-5 () 1 | 26,400 [ | 26,400 [ Al 1B [EfMHY
20-1-0-1 TUMH - (£) Assy 1 [ 41,990 1| 41,990 1 [/2\|r1620-1-0-24-1-25-1~28-58~60 | A | B
= o IBEAS E BEfD
20-1-0 TUMB =T-h (/) Assy 1 |30,220 9 | 30,220 9 AF1020—1-21~23—1 A
20-1 |12 382 102 O1(79h)h =7-h (/£) 1 | 26,400 9 | 26,400 M A
21 |12 382 202 O1|vA"Vv) & wh 2 | 2,880 1| 5,760 4 Al 1B [EfMHY
22 10 120 10A L1|SAFy(=FE) 2 40 1 80 [ M10 A
23-1 |12 992 003 01| -2 2 900 9 | 1,800 [ [/2\| 6 40m A | %%;:s@—ﬁmeﬁ
24-1 |12 382 104 O1|79Md™ =7 7y b (£7) (Z2) 2 | 8,100 [ | 16,200 [ |/2\[t3.2 A | B |IRERGE BEH Y
25-1 [12 153 001 11|myst” v (E)CP 2 2,990 H 5,980 H Aﬁ”}ﬁﬁ.n%s%ogty 25k AT Y A
26 [10 111 087 M1|AHK W} 4 90 M 360 [ M8X20 A
27 {10 130 082 22|x7° V)" Uyvy— 4 30 M 120 1 M8 A
28 10 120 089 M1|A#Fyh 4 30 M 120 M M8 A
5y —L[12 184 104 01 4 (50Hz) 1 | 31,600 | 31,600 M T4TC1A51 U1 & A
-2(12 184 114 01|% &% (60Hz) 1 | 31,600 | 31,600 M H4TC1B51 U1 & A
32 (10 120 10A M1|A#Tyh 2 30 M 60 M M10 A
33 10 134 NV5 32(7° V—=byyye— 2 40 1 80 M M10 A
42 |12 384 203 11|24J4—CP (IEXRS - #2) 1 | 25,000 [ | 25,000 [ =77, A (077) A
42-1 |12 384 204 11|2x/4-CP (IEXS -« #2) -a| 1 [ 25,000 [ | 25,000 [ =77, A (BJ8) A
44-0 #{YAssy 2 | 5,440 | 10,880 M FIG44 + 15 - 16 A
44 |12 152 010 O1|#4¥ 2 | 3,840 M| 7,680 M A
47 |12 154 002 O1|L7UBHAT 577 1| 3,240 9| 3,240 M A
50 [12 384 302 O1|7MA¥Vv/) & v)A 1| 2,280 | 2,280 M B |A#PED Y
51 |12 894 006 01|2fyFCP 2 | 3,480 | 6,960 [ )= A A
54 (10 130 102 21|x7° V)" Vyyy— 2 20 40 1 M10 A
56 [12 344 312 01|93~ MEE (W b=vn"-) 1 390 19 390 14 A
57 12 404 411 10|73~ M&RME (Gv7° /2EE) 1 940 [ 940 [ A
58 |12 153 016 O1 [FEfEA7 Vv (p-va7 007) | 2 330 1 660 M A
59 10 134 HS5 91|7° V—=byyye— 2 30 M 60 M M6 A
60 |10 147 S15 21|#&t v 2 20 40 1 ¢ 3X15 A
o] 1|12 224 601 01 7N vF7x [100V/50Hz] 1 290 M 290 M A
-2[12 224 602 01 |7~ V3£:100V/60Hz] 1 290 M 290 M A
62 |12 224 312 01|73~ VL (Bl ) 1 600 M 600 1] A
69 |10 108 A8J 92|+ Xfthyt” via™ 17 2 50 100 M 4X10 A
75 (12 404 105 O1|r-7"W)707° 1 740 1 740 1 0A-W1611 A
12 387 101 01| V& —WCP 1 2810 | 2,810 M A




FIG.2-100 A3UF7L—LAYI V-7

2P S VINVIINCLY

2—1

\e




YL-miniB1i AN T=h (A7 V=77 A =90ab [02240] EHFI—IH « ZBHE%—H
F1G. 2-100 S [HE0 5 & AT 2 45
FIG| N—=Ya—F | #, & 4 & |wox| EYERME | 160 e | wxe o #E P GO HH
1 2vh T-h (M) Assy | 1 | 45,330 [ | 45,330 [ |A\|F162-1-77~78 A | B |
2 12 152 002 01 [2hv} 7v-4(0) 1 | 18,000 13 | 18,000 1 ||F#heysttkE (10) A | IE | E#ES Y
2-1 {12 992 005 O1|#/} 7v=h(A)-a 1| 34,800 [ | 34,800 [ |[/2\|4-Foysfibs A | #(EHBMEEL
9 |12 382 203 11|myst’ v (A)CP 1| 1,410 [ | 1,410 [ |[A\|W F=vRe vz vtz | A | 1A |[F#diEd Y
77 12 822 002 01 [F—brysn —CP 1 10,500 [ | 10,500 1 [/ A
78 (10 134 NS1 81|#AEVYV4— 2 30 [ 60 M CC-0816-05 A
79 |10 134 KQ5 91|7° v—}7yva— 2 30 [ 60 M M8 A
80 |10 111 08D M1 |/<AH Vb 1 220 1 220 M M8X45 A
81 |10 121 089 21 |HfrvFyh 1 80 [ 80 M M8 A
82 12 992 008 01 |mysvn =27 )v4° 1 560 560 Al .
’ i " o |
83 |10 134 GK3 32|7° v—}7yve— 2 30 M 60 M M6 A
84 [10 111 06D ql|7<f# Wb 1 110 M 110 M M6X45 A
85 |10 121 068 21 |FfrvFyh 1 40 [ 40 M M6 A
86 |12 992 010 01|B| x4 E 1 3,280 | 3,280 [ A
87 (12 992 011 OL1|/EHEA7 vy 1 560 4 560 [4 A
88 |12 633 003 O1|#EY E 1 840 M 840 1 |/2 A




FIG.2-200 A%YFI7L-L(B)7T V-7

36-1-0-1

391

3

40-1

f__
P i
N

45-0




YL-miniBli ZEHRI—IH - ZEHEE R

FIG.2-200  Apvb 7=h (B)2°h=7"  ~ =)ab [02241] /A S I & & A4 5 45
FIG | /X—Ya—FR oW 4 W wimy| EEVERLAN | 15 SR e R H kg Syt ADOHM

29-1 |12 153 003 Ol|myst” v (F) CP 1| 2,990 M 2,990 M =0 1HE A

30-1 |12 153 004 11|A/} 7v=h (B)-a 1 | 44,400 1| 44,400 M A

34 |12 383 202 01|} 947 y¥a 2 720 1, 440 1 A

35 |12 153 006 01(x7° Yv) 1| 7,000 [ 7,000 [ A
36-1-0-1 & —b-aAssy 1 {100,740 4 | 100, 740 9 FIG36-1-0 + 39-1-0 « 52-1-71~73| A H HiEH Y
36-1-0 1 -l (1) -aAssy 1 | 54,550 1| 54,550 M F1G34 + 36-1~38-55-74 A

36-1 |12 153 007 11| -V(1)-a 1 |52,000 9| 52,000 4 FISTIER b [ Byny 447" A

37 |12 293 012 01(/7)y7’ 1 880 M 880 M A

38 |10 117 019 gl|/7" % wb 1 440 1 440 1 M10X25 A
39-1-0 1 -l (2) ~aAssy 1 |40,410 1| 40,410 [ FI1G39-1-40-1-43-1 A

I FIG52-1& ¥y CH

39-1 |12 383 104 11| -¥(2)-a 1 | 18,000 1| 18,000 [ FIG43 & 7y} CHHdH A HEdH Y

40-1 |12 383 106 01|/yvava™ hCP 1| 2010 2,010 MM FIGAL &ty b « AT SEEEM R | A

41 AT Y 1 ¢ 6 FIG40-1i{Zty b A

43-1 |12 383 105 11|74 7 4-a 1 [20,400 9| 20,400 [ M16 A

45-0 t: VAssy 1 430 M 430 M FIG45 - 46 A N

45 (12 382 201 01|t v 1 410 1 410 1 A

46 10 147 S15 21|& v 2 20 40 9 ¢ 3X15 A

48 [10 111 10B MIL|AAAF Wb 1 150 1M 150 M M10X35 A

49 (10 120 10A M1|AAATyH 1 30 30 M10 A

52-1 |12 993 002 01[K -wmyst’y 1| 568 1| 5680 1 A | E%%’IEMTE@

53 |12 153 015 11|# #-a 2 810 M 1,620 1 A

55 12 404 311 10|7~° W84S (K -0P% ) 1 390 M 390 H A

63 |12 153 018 01 MTWJ Jvr (uyst” v (F)) 1 1,760 M 1,760 M A T

64 [12 153 019 01|z~ —4- 1| 1,250 [ 1,250 M M5 A

65 [10 130 051 21|A7 V) Dyve— 1 20 H 20 1 M5 A

66 [10 112 05A nl1|AAA7UFH Wb 1 60 60 M5X30 /EHh A

70-1 |12 153 022 01 |KtASTyv4— 2 590 [ 1, 180 1 A | B O|IREG L BES Y

71 |10 103 12D Al|+F27fA" shay 1 40 40 M4X6 A

72|10 130 041 21|27 Vv vyye— 1 30 30 1 M4 A

73 |10 134 CE2 21 7 y—www 1 30 30 M4 A N

74 |12 994 001 01[7~ MEE (Fxpbhzav) | 1 120 1 120 1 A

76 |10 134 EE3 32|7° v—pyyve- 1 30 30 M5 A

89 [11 153 302 20|¥vy7° 2 210 1M 420 1M 19mm A




FIG.2 [B7L-L9' -7

36-0

}@@
B0 -&

—20-0-1




YL-miniB1i EWR—IA - %
FIG. 2 [H7V=b)"W=7" N =Y} /A sl IS 55T 5
FIG | X—Y=a—F AR wims| BEVERL | 1A A | woe H A Syt A0 H M
20-0-1 TUMHE = (F) Assy 1 |39,880 39, 880 M FIG20-0-24-1+25~28 A
20-0 TUMB =T=h (F5) Assy 1 {29,560 M 29, 560 H F1620~23 A
20 |12 382 103 O1|70hh =7k (F) 1 |26,400 9| 26,400 [ A
20-1-0-1 TOMI = (F2) A 1 139,880 H 39,880 M FI1620-1-0-24-25~28 A
AL (Fe) Assy GREE Y
20-1-0 TUNMI =7=h (/£) Assy 1 |29,560 [ 29, 560 M FIG20-1-21~23 A
20-1 |12 382 102 O1|7WMHF =7-b (%) 1 |26,400 9 | 26,400 [ A
21 |12 382 202 O1|vA"Vvr & wh 2 | 2,880 9 5, 760 1 A
22 (10 120 10A L1|AfMATy M (=FE) 2 40 H 80 M M10 A
_ FIG2-1-23- 135 &
23 |12 382 112 01|= 2 240 P 480 P 28 A
= JBE [ [ ¢ 28mm IH H i )
24 |12 152 008 O1|70hMA™ =7 34y} (/) 1| 8,100 8, 100 1
— H | H#dH Y
24-1 |12 152 009 O1|79MN#H =777y b (47) 1| 8100 8,100 M [A\ A
FIG2-1-25-1 « 58~
25 |12 382 206 11|ry/t” v (B)CP 2 | 1,920 14 3,840 1 Fr—v, Rt UfFX Al 1B (60> FTH#R
HY
26 [10 111 087 M1 [/S£4H Vb 90 1 360 1 M8X20 A
27 |10 130 082 22(x7° Vvr vy 30 1 120 1M M8 H |E#d v
28 |10 120 089 M1|/~<HTyh 30 [ 120 M M8
29 |12 382 204 11|eyst v (C) CP 1| 1,320 1 1,320 19 W)y, Fr=v. RE VX A F1G2-200-29-1 - 66
[H |~69+76-30-1&
30 |12 153 004 11|#/} 7v-4(B)-a 1 | 44,400 [ | 44, 400 [ A TP CHED Y
34 |12 383 202 O1|M 947 v¥a 2 720 1 1,440 H A
35 |12 153 006 01(x7° v/~ 1| 7,000 19 7,000 1 A
36-0 £ =V (1)Ass 1 155930 1| 55930 4 FIG. 34.36~38 + 55 » 52 A
Q ! |
36 |12 153 007 11|F -V(1)-a 1 |52,000 9| 52, 000 [ A
37 |12 293 012 01|/ Vy7° (B) 1 880 M 880 A
38 |10 117 019 gl|/7 & Wb 1 440 1 440 1 M10X25 A
F162-200-39-1 -
39 |12 383 104 11|F -V(2)-a 1 | 18,000 [ 18, 000 [ A | 1B [43-12ty I THMD
n
40 |12 A83 012 01|/yvava 4 1| 1,010 4 1,010 14 A
41 |12 743 006 O1|FATt v 1 230 1 230 1 ® 6X28 A
43 |12 383 105 01|74 7 4- 1 |20,400 9| 20,400 [ A
45 |12 382 201 01|t v 1 410 14 410 1 A IR |HE#EHY
46 |10 147 S15 21|&t v 2 20 1 40 M ¢ 3X15 A
48 |10 111 10B M1|AF wh 1 150 [ 150 [ M10X35 A
49 |10 120 10A ML|SFTyh 1 30 M 30 1 M10 A
Wiv)™ Fz=v Rt vV b AT FIG2-200-52-1 « 71
52 |12 382 205 11|ry/t” v (D)CP 1 780 19 780 14 JB . MAXS, #A" /NkY T M4y Al IH [~73-39-1&ty}T
vy=fF H#H Y
53 |12 153 015 11| #-a 2 810 1 1,620 [
— —— A |AE#dH v
55 |12 404 311 107~ V&L (F -vET) 1 390 M 390 [




(it : 1@ 5D

i 0
MGIH b | mt WEER|eobe] BE | B | mE | AW | 06
A 1,000 800 800 900 1,000 1,300 1,300 1,400 2,000
B 2,000 1,600 1,600 1,800 2,000 2,600 2,600 2,800 4,000
C 3,000 2,000 2,500 3,000 3,500 4,000 4,500 5,000 6,000
D 8,000 4,000 6,000 7,000 8,000 9,000 9,000 10,000
LEE | AARR | RAR | BER | AR | LR | SR | BER | AR
EFR | AR | BAR | WA | KBR | B5R | AR
ESR | BER | BER | HER | WOR | BER | XHR
EBR | BER | ZER | 2RR | BRA | AR | £HE
HER | FER | BUR (MUK BER RAR
LR | FIR | RER BEBR
HEH | EHR HISR
I
E5R

X BE~NOHAEDIGEEIZRBEYEZELEREVELET,
XOEXAR AR EA S FITHA T REEDS T, litg 51— AA~DDRET

EHICRDIEENHYFES,
XOEXRRBABEZTHIEOTEETES GBI LENMIETY . MMDKESPESLHLET,

BEHRRIXFICEANBRASEENHDEH. CTETS,

(ZDHEIF LERMEXEARICEYET,)



